Cavatina, Surface Fix 23170

Contents
Instrument components: Surface fix components:
Cavatina
e a1 e
1070 5ecurity Screw M10Barrel Mut 2 vEr
Steel Ieg Part Cover Cap

1 pair of Small Red Beaters

e w4
M8 Myloc Mut k‘

’ x2 MADE IN

M éx20 Security Screw BR |TA|“
BSEM 1174
. ® «
2 Part Cover
Cap
;ﬁ ®x1
Ié Saddle Strap

Ground Anchors not supplied

Before Installation
Choose a suitable location for the Cavatina, bearing in mind the amount of space required around it:

- B
- -
- -
# b3
& ]
i - %
r T \
J-' M T 1., nstall Instrument
- E HimIN = . 1 = z
i 1.5m L-2M ° with 1.5m free space
i | (fromwidest point)
| T s s I zround it
! _:_:_,_,._.u" i
\ ’
% 4
b &
bt . &
b - i

Bear in mind the product weight:
Weight of heaviest part: 25kg (Cavatina)  Total weight: 30kg



Installation

1. Attach the steel legs to th»:;\ f/2. Attach Surface Fixing posts |
base of the instrument with to legs(1.2) (See Ground Fix
the M& Nyloc Nuts and 2 part | | Post Installation Sheet)
security caps. (1.1) (See
- kﬂssemblyGuide} y. \N J
4 N . . ' N
3.Locate Plate in desired 4. Fixto Surface using 5. Make sure all fixings are
location and mark holes to fix recommended ground covered and secure using
todesired surface. anchors not supplied RN cover caps provided )

-
6. Attach the 1 pair of beater

tothe saddle strap onthe leg. A50mm
{1_3} from
. plate

Ground Surface




Tools:

‘R‘"xl \“xl

T30 DriverBit  Tx 40 Driver Bit

o e — - . C
= < \ nresd Leck Solutien > =4 = COMPONENTS LIST:
[ Required (Mat Supplied) =T E
@, 2 Part Cover Cap X8
8 M8 Nyloc nut X4
‘ﬁ Saddle Strap X1
- Mex20 Pin torx X2
— M10x70 Pin torx X1
o M10 Barrel Nut Pin torx X1
o
L 178
16
(— — a I,»"| [ /’
I_—[_[—I i —é} l@—i
e

178
O
1/8




Surface Fix Post Installation

Tools:
"'.‘* x2
T 45 Driver Bit
- ”uwr B
1 2 3
> N — N
AN, -1\ T\

I

rd Nread Lock Solution \\\
E - Requires{liot Supplisd) —
T

Locate the Surface fix Fix instrument to Surface Fix Surface Plate to the

Plate into the leg of the fix plate using M10 bolt ground surface Ground

instrument. and Barrel Nut and use Anchors Not provided
thread locking solution cover fixings with caps
to prevent fixings working provided

loose.



